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=Y d) $Pﬁb'$ foru gufer: ¥eferd ¥Rl & ¥ R convolutional layers &
AT b ey H FafRad 7 8 B U Iel 62
A. U hidden layers & I 9eTd g |
B. 4 spatial context modelling 1 Ydfdd & 6|
C. AlSd translation invariant §9 SITdl g
D. HiSd H parameters @ A §¢ SIdl B |
E. §¢! parameters sharing Wafdd &vd B
a) U al
b) B, CE
¢) B,D,E
d) A,B,D,E





















BIR AY ¢ 3R 3B Ba kX, X, ) = <@ (X)), DX)> (<. ,.> 3fidR®
IS 8), & forg Fafeiad # 9 &19-3 Sy el 62
I. kernel trick @1 a1y g f& ga fbdt sample point&%%ﬂ{ D(X;) bl
WY ¥ Y 3 HBAT T PR
IL. kernel Algorithms &1 -1 e13H WR W @(.) & 3IW D IR 1R
Tl P & |
a) I
b) I
¢) I3RIIGH
d) Sudad ¥ q $Is gl






























Suppose UID i1s the unique integer User ID for a user, then choose all
the correct statements with respect to the processes,
I.  Processes run by the same UID have different permission.
II. Processes run by the same UID have same permission.
III. Processes can access any files that the UID has access to.
IV. Processes started by root can reduce their privileges by changing
their UID to a less privileged UID.
a) LIl and IV
b) III and IV
¢) IL III and IV
d) II and III



26 AUl &1 HId U, substitution cipher H ‘key space’ @1 3{bR &1 GV

a) |k|= 26
b) |[k| = 26%
c) |x|= 2%°

d) || = 26!









gf¢ U RI®R(Cipher) (E, D) &1 (K, M, C) WR gl My-Tar gl df
Fafeifad I A SH-91/4 YA el 6/8? (K, M, O) HHL: Doll, TG 3R
1% (ciphered) ¢aRe WY B |
L Sfafde wfdaeed tsaifad ok Rips dae 9 wH dae il &
IR ¥R g6Hd ¢
1. Ri%BS ede & WR, Plg dg Tol sl Yabdll fob TR mo AT my AT, ST
Vo, m € MBI
L. U Rwer o guf gt e, afe (mo| = [my| 819 R Voo, m € M
R AR V€ C, Pr{E(k, my) = c] = Pr[E(k, m;) = c] ©, Sl k € K Bl
IV. U R # gof mg-figd 9, afe (mo| - || 819 R Vo, mn € M
€ 3RV ce C, Pr{E(k my) = c] = Pr[E(k, my) =c] 8, 58 k € K B
a) 13RI
b) III
¢) II 3R 111
d) 13RIV






fraferiRad & ¥ 3 uieidid &1 U S HTTP connections IR1&d gd
82

a) iU ofar RIgiRd (TSL)

b) UlRwRe oz Hifefthe= (ECN)

¢) ¥ el cif¥RH Uicisid (SCTP)

d) RER] Rerdwr vielaia









Which of the following statement is/are correct?
I. If h( . ) is collision-resistant, then h(h( .)) is also collision-
resistant.
II. Ifitis feasible to find a collision x, X" under h(h( .)), then x, x’
is also a collision under h.
III. If it is feasible to find a collision x, X’ under h(h( .)), then x, X’
does not necessarily have collision under h.
IV. If h( . ) is collision-resistant, then h(h( . )) is not collision-
resistant.
a) III
b) I
c) Iand II
d) IV






Suppose a login form from your company uses following
implementation for login authentication,

Slogin =8 POST[ ‘login’],

Spass =8 POST[ ‘password’];

3sql = “SELECT if FROM users WHERE username = “$login’ AND

LA B

password = ‘$pass
$rs = $db->executeQuery(3$sql);
if $rs.count > 0){
// success

/

Which of the following statements will be correct with respect to the
above pseudocode snippet?
I. The inputs, login = candidate and password = candidate(@123” will
result SQL syntax error.
II. The inputs, login = candidate’-- and password = candidate@ 123 will
trigger SQL injection attack.
[II. The inputs, login = “ or 1 =1 -- and password = candidate @123 will
trigger SQL injection attack.
a) Iand II
b) II and III
c) III
d) I, Il and III














